5 B
ad
i

S CERIRE T AT S GRS

BOABATATSGAE (8] SWSES A

SO T WS SR
LOEHE o ORI T CMERBHINF NI SATRESOE 2

S CEBRER T IS GRS (1

SATE M2

HTE 5

LTS A NN TEE (R

N D S

SEHME

-
E

FOHEES

[

iy

S

BERKSLOBRRSEICHT 2HEOEC |F * Sk
B9 3 BfE - '
O
BE R o 15 & A M E % fz8 #e # &
(B DU T480> @) | + 5k vk A Rl 2 55| 2, 0005 1 X — 16
D 24 1 SR — S A T 24 5 0D - 12
1% ) i A & |
. Bz T480 D))
we (B3 *;E 4 % 0 #, P K B OF I ié%%’?%®
(BT (3)) REE R i& %ﬁ NOEORE E O K B 18
(ﬁ%m%n)
2 T ) 1 B | 19
NV NV Jere P - ] ]
SEECEE N A Ty Eeye ke )
i ﬂaj; % e %%ﬂf % 20
B & (N B ] A Fro|D 4 D 4 \ %4
%ﬁﬁ@% uf% mﬁjﬁn{iﬁg%% 4 i (allZ\ () 113) + R EA-E (0N NTOF )
irﬁnrﬁ%ﬁ+@ﬁ%ﬁ&Am$ =) W - N W N
R TIETPn) GIET) 21
N ER DA OB A T N B A 0D T AT G e (i R K OF
1 | (G () T2 +T5) £ 17) + T10054 3 — T [ 94 {-F 45 (o 6 > 38 IoF 4 % B <)
% B (1111 = 142)) — R () 123) BN (+ 1 [ CRUZE U T19) R 08 o6 4o = i A B A5 R | 22
* Q—%&Mﬁmm%&MiFﬁmf ARG ST IEEAR I B0 S HAPERAR
Hl (T | — f q . f
wWOR| % i?ﬁfig}g%amﬁ;mm@% *(z‘:ZJ 5?% fJé%ngé%%EéJ))) e
Bl |1 | Gz [20+ 151 +17) + 1005 o B R LN
| RIE L et 4 I 0 590 £ 0 24
| 2| R R ) i A | O ﬁ%ﬁ%$ﬁ§%%% %%%; %
D “RIEA(E A qitst pi i &
| | B RS ) R BRI 5 B B0 e A 25
L I R e e e R ] (et () 120))
=) ) e AR EAL 8 O B AR £ 5
f 5 B 4 ABFIAR DT OBFDOIREFNE 26
=) () X1 (6)) X 20. 7% ST (A1 (F) T21) 301&123))
T WD R T A O FT i3 0 F R 7
A () T9) 3xT12))
5o ® R/ e w1 IR A R R B U 2
(1) + (2) — (3) — (@) — (7) *?ﬂig§§§ﬁE}\V)Eﬁﬁf?2é2530)ﬁ%é?§i)\§ﬁ 28
GBIFEA+ () 17))
AT Ao A 29
TE BikE) YN
5K 8 A 4 00 4 I R e o A 9 ” G 1) 19))
" WETRIRELENSOTEDBORETNG 5
5 GllE+ (=) 17)
| B o 25 % A8 4 g 10 Eﬁ?nﬁﬁ%ﬁ‘%’%@é\%@“ﬁ ROBBOBREFNG o,
g o s e @W%@f%ﬁl#tma 29
4 WOy R % B O 4o (iz=+ (/\)r18J+F33J+r38J+F43J+F48J)
z RS - —
JEH (—) 310 —( W 4= D 58 AN AR D TS O Re B B4R
5 (A () 310D = @) T CE) 122)) 33
e 7 P = {> feke o4
we | B OB E OF % 2 L0, BB LRCA G e
[P%MLtﬂMHE\ﬁﬁ IR LI PN
5 | F%%Pttﬁmﬁ+%§%tb®:)%
ST Ry B Ry B S 2 kb / =
) - i s 3 ) 4> %A
o | Flk o Lo B R o =09 +9 00+ 0D + 03+ 09 F | 4
@4 + 25 — @6) + Q7 + @8) — Q9 + G0 —
N P (1) +(32) +(33) + (39 — (35
g x 3= AYA N T ﬁﬁ‘ /;\a bi %‘:E
(1) + (2 — (13 1 (56) X 40% 37
5 E 3 g ] 5
i - % P e 4 ((15) . (16) I G DWT N\ EEH)
s 5 ; "
— N i W £ & bl
10 — 10 IS 39 000
Ok & B cox 4+ B BOo®E o FF =
MmO " R & Bl B
3,000 5 M Y LD E 0O & M = &
(%@%i@omﬁmxm)®w¢ﬂ#m& 40 000/G) @ 10 % M M K| 44
Ij\
4£3, 0007 FHFH Z AR 18 % 4F 1 (BFIAHS LT 0458
%g%;%@k%g(Mequ @) D | 41 000/ @) o 15 % % 4H|45
Ny ot \L
oL EH *Eﬁﬁ?)?@f? 2% &y 000/  » 20 % K% 4|46
it it
L @0 + 4D + @) 43 000 @) + (5) + @6) 41 )

% 0301—0301

—~

| 112
~—

- EH - M IH

DR E R |



